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30 Question 1- Find the wrong term in the following series.

99 1- HHIRId J@T | 7TeTd Ug H1d ohlSIg)

G5 .lZo
5.30, 63 @

A. 30
26 55 45 B. 65
65+ys - o C. 225
| = D. 163
0465~ |30 E_105

65
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30 Question 2- Find the wrong term in the following series.
T4 2- THleTRad S | TTeld ug F1d hifsy)

4,5,7, 11,19, 35, 68

RELY: v
35+39=¢1 B
N E. 5
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30 Question 3- Find the wrong term in the following series.

94 3- THmleTRad S | TTeTd ug F1d hifsy)

24, 30, 33, 39, 51,(58) 69

, A. 30
ZLH(QH,):gQ 5'+(5+U=i¥i B. 33

- C. 39
501 (340) < 33 D. 51

KH(HD: 39 - LE58

334( 39) < S|
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30 Question 4- Find the wrong term in the following series.

T4 4- THTeTRad e | TTeld ug F1d hilsy)

m 1,4.5, 18, 63,(192, 472.5

4, 30 X4 5=45 ‘;" 2’6&5
k5S= 63 D. & 419
30 3
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30 Question 5- What will come in the place of the question mark '?"

in the following question?
957 5- TefctRad g9 0 % Torg 12! o T 9 RIT SATTTY

[cjz - 92 «34:81%2=9’
> A. 1
Ix9 X _B- 0
= 9
311 C. 2
j\ 30 D. 3
=0 E. None of these
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30 Question 6- What will come in the place of the question mark '?"

in the following question?
T 6- FETARTd I I T8 ' o T 9T =T ST
3072~ 4% 2= 13+ 4 x 368

Y3= 195601 ‘;‘: Z
Y3 6y _C—4
J:Lf 30 D. 2
— E. None of these
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30 Question 7- What will come in the place of the question mark '?"

in the following question?

T 7- FHETRad I 0 9 T8 ' o T 9T -7 ST
13 x9+7x31=7?-15

A. 223
H+7+15= x B. 123
30 D. 423

(}/Noneofthese
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30 Question 8- What will come in the place of the question mark '?"

in the following question?

T 8- HIfIRad I H 99 ToIg 19" o ST I =T SATTT?
32197+ 3512+ 312167+ /1728 =2

A. 54

A= 15+ &1—Q5+|2 B. 34
_ _C- 56
- 26 D. 71

30
E. None of these
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{0 Question 9- What will come 1n the place of the question mark '?" in the
following question?

T 9- TR I 5 g g ' o T 9T =1 ST

\o% @ 105 - 40~ % 4
\ WS ) _

A. 2.5
HI: - 34 B 05
1= —34__qc¢ C. 15
4 D. 6.5
Y= 30
= 3‘5 _E.__None of these
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30 Question 10- What will come 1n the place of the question mark '?' in
the following question?

T 10- FfoiRad I 8 99 g ' o T 9T =1 ST
g
(15 % 28) + (510 = 17) = 2 + (139 5.9)

H20+ 30-2) = X A. 410
B. 444
- L’ '
L= C. 413
30 | DJERY %)
F—None of these
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30 Question 11- What will come 1n the place of the question mark '?' in
the following question?

77 11- Fetaiad H%Tﬁqaﬁa'?mw JATTT?
50% of 1700 +60% of 180+ 110=92?+ 10

A. 1128
850+ 109 +/60 = X
B. 1138
=105y C. 1148
— 30 D. 1158
__E—None of these
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Question 12- A person invested in 2 schemes one at 10% per annum
and another at 20% per annum. Aft@ he gained Ras
interest from both the schemes. He invested a total of Rs. 6000. Find

the share of investment in first scheme.

%JO, Joo T 12- Tsh =ik 2 AISHIST H feI3T HTaT € Th 10% S o9 1T e

/2/ 20% Tt I ahl ST | 3 TN o oG, I S A AT T S e
2700 ¥ ITH &I &. I8 el 6000 TG T (a1 foham| agedt Aisiar §
§ IEENER =N IRETI S I A.Rs 5000
X\CP/S 5 30 B. Rs 4000
ybqf; C.Rs 6000
D.Rs 8000
E_ None of these
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Question 13- 9 years ago age ratio of A and B was 2 ¢ 3 and After 9

year’s ratio becomes 5 ¢ 7. Find the sum of the present age.
T 13- 9 I8 U8cT A 3TR B il 3719 1 301G 2 : 3 o7 R 9 a9 & 91a

AT 5 : 7 B ST &1 TAHT ST 3hT AT J1d ShIT9Y|

| gom 07‘ /Wm_'l AU="A.100 years

= ( LH@X’@‘H-H B. 190 years
C. 180 years

- lq& 3_& “P-198 years

E. None of these

|
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Question 14- The length and breadth of a rectangle are 40 meters and
§9\ 24 meters respectively. If the numerical value of perimeter of the
O rectangle 1s equal to that of area of am square, then what 1s the

diagonal of the square?

Ueh 3T ohl e 3T AISTS SHATT: 40 Hiet 37T 24 et 31 afe sa &

T ShT GSATcHeh 09 Ush I oh &%l ah SIeR &, a1 a1 a7 faramut o
i Dig Qlox[5 A 16
?ﬂdan&/e: 2 ( Ho424) W‘ Qxf[? .

_ 30 /é B.32 cm
= 128 m oM C.40 cm

Y
d= ,28 - D.42 cm
@ —F. None of these
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Question 15- The liquid A and B 1n two jar are in the ratio of 7 :
9 and 6 : 5 respectively. In what ratio, the liquids be mixed so
that ratio of liquid becomes equal.

T 15- 3 I H A A 3R B AT TG ShA: 7: 9 AR 6: 5 81 A
qaTYf ohi fohel STIUTA H THTTAIT ST TTieh qeT ST U ST &l

Sy,
D whet ek Yl (e 3N D 7Mm.7:11
ok o) § K 3 B.6:11
¢ T
QTC(HO< “\D’\f’d ER(T}I’JIDHWZU{M E-8:11
- D.3:11

E. None of these
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Q.0

T - G ]ﬂ(éxnxz 55 9%

: . Ni7¢
L 68 S s ipea %/. 2
[ [Y13¢ /XH@]\) DX 6x1 1 8
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500
450
400
350
300
250
200
150
100

50

Bar graph shows the production of five companies in different

phase.
S U Torfer=T <uTt | Uiy shuf-I=il o IcqTe- okl STidT 2|

410

470
340
280
I I
P R S T \J
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A.42.4%
B.32.4% 7

0
C46.4% 1
D.49%

E. None of these

—_—
—_—

Question 16- The production of company P 1s what percent more

than product of company R.

T 16- YT P 7 3916 9] R o 391 O foha gfera s1feres 89

=289

- &5
&

- LféH/ﬁ

—_

/55?5)596:9

30

500
450
400
350
300
250
200
150
100
50
0

N
410\
A 340
280
190
P R S T v
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HoN Question 16- If total product of company T ﬁ divided 1n ratio
A C)\ .13)_—35— 16 2:3(old:new) then find the difference between new product of

= 9y company T to the total product of company U.

A.82 ~ i Ut T o el 3T bl 2: 3 (YLET: 73AT) o 34T | farieia

B. 12 3=82 NN N - N
: [eRET ST &, A1 shut T 3 T 3cdTE 3R hut U 3 hed 3caTe o it

C.72 U= 19 ST L JTd TS|

500 N
D.92_— o 410 (
400 340 30
E. None of these 150 280
300
— 2 190
D%\ 282‘(%0 i
150
<% " |
= 0
R S T U

P
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?5—5& Question 17- Find the average number of product of all

companies.

T 17- Gl Ui ok IcdTe shl INEd E&IT J1d hiTSIg)

A. 138
B. 238 Puorgge= (690 — 338
C.338 Z
D. 448 " 410 30
E. None of these I 280 349

o | 190

200

150

100

50 I

0

P R S T U
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\C—@\ Question 18- Product of company R 1s what percent of product

of company S.
T 18- YT R ohT IcTTE hUAT S o IcTTS T TehdHT IfaeTd 27

A.823% /L&
O/:‘Lé X(OO: /Lf/@ba _ 82 )
B. 70.3% 0 Zug /= SALY
AF 30
C.88% B
D.29% " 410
E-None of o P
i 190
200
150
100
50 I
0
P R S T U
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Question 19- If product of company T each cost Rs 450 and 1t it
' sold 20% profit after a discount of 10%. Then find marked price

of each product.

A.Rs 500 T 19- Ffe HU T o Tcdeh 3T shi shiAd 450 T9 © 3T T8 10%
B.Rs 700 1 D o 1E 20% ATH SI=Idl 8| T Tedoh IcUTE hl Sehd Hed Td
C.Rs 800 RN

D.Rs 600~ 410

E. None of these ;“5’3

340
280 {0
300
250 190

200
150
100
50
0]

| R S T
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\(_‘@\ Question 20- How many products in P and R are deffective if

ratio of good and defective product of both 1s 15:8.
94 20- P 3R R ¥ foha Scdtg 19l € IS g1 o 31 31

A.400 SINYUT TUTRE ST ST 15:8 &2 £90
B. 450
C. 250 (6- &} X3=616

|= 30 30
500
D. 150 450 410 } v &: 30K 9
E. Nefie of these I 80
) = Yo
300
250 190 —
200
150
100
50
0

V)

N T
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